Annie is trying to find EI of 45

She draws this bar model.

How does the bar model represent the calculation?

What is % of 457

Write <, > or = to compare the calculations.
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Which is the larger fraction?

Explain how
YOU KNow.

% of 72 =
165 children and adults go on a school trip.
Lofr2=
12 3 .
T of the children are boys.
1of72=
b How many boys are on the school trip?
Match the pictures to the fractions.
Tick the odd one out.
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Explain your choice. 3 s
Exploin Complete the fractions using three of the

What fraction of the
square is blue?

number cards.
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